TemBreak TemBreak @ TERASAKI

Innovators in Protection Technology
EARfE

IIREREAE

Plug-in base

Instruction Manual

XDMA1

T2PM12E T2PM12C
T2PM12LT T2PM12LC
T2PM25E T2PM25C
T2PM25LE T2PM25LC
T2PM40E T2PM40C
T2PM80OE T2PM80C
T2PM8OM T2PM8ON
T2PMX3E T2PMX3C

AHABR,FERICEZADSFL TAYNRELTTEN  ABISEANTOEVEIRL,
RUBESBHRVNC L TELREEICAL T B —EFEZEVE R A,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

ISR\
T547-0002
KRR X INERE-13-47
TEL 06-6791-2756

FAX 06-6791-2732
http://www.terasaki.co.jp

TERASAKI ELECTRIC CO., LTD.
6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763

FAX +81-6-6791-2732
http://www.terasaki.co.jp

kiki-info@terasaki.co.jp int-sales@terasaki.co.jp

2G1023SAC (KRB-0653c)

NRLENDIIE

WL EH AT RROBNS, LT AEEZDMDTBEEE bRATEE EBOHH, ZE2DI1E
HRECEEEEOLTUCBHLOOSSIIRNT IV, ZOBIRHEAER T, XL TEHIED
S %[ BRI ERIELTRALTHIET,

AR IRV E B - BAIC BRERRF Y A T T E- A B85 2 5 heMD
HEEINBIFE,

BN EESABAICBRERRSEBIA T FREECESXEELSID
AIEEMP BESN B BE,

hb, ICEHLAEETH RRCL > TR EBALBRICET OUREAP BIET,
WFhHEELRTTCTDOTATTFo>TTFIL,

BEIEDEE (BIICHELEBOFMETZRIENLIOJTEZBRBLTTEL.)

A EER

OERTHIIFERE (BRIEL) Mo TTE,

O=E. 2T BENER BRMAXIRE HELERBREICKBELLVTTEY,
KEDREEL 1), ERBICBELEVB IS HIET,

@I, I VUM BMEEDEMRUMAKEEN TL—DATMICASENESIC
BILTTFEW KKDREREL 70, FBIEDSZAN HIET,

@I LIE¥IL, LR TL—H%5EEO (OFF) 1L, TEL TOW AN EERERBL TITH>T T &L,
BEDHTNDHIET,

@ 41BHTL—HDHE 3HARKX ORI B INBICERL T TSV BERT
BFETICKKDRERRELVET,

@i TR UIRMRER ML CREICHEMITTEO0 KEDODRRELVET,

@i 7 UOFET IR R ORI FEBICEE L AP MO LEVLIICLTT I, I FEB
NDBREISHE KK DB HNET

EERLDEE

A fEkg
OB THIMNELTTEN, BEOBINDBYET,

[1]Safety Notices

Be sure to read these Instructions and other associated documents accompanying the product
thoroughly to be familiarize yourself with the product handling, safety information, and all other
precautions before mounting, using, servicing, or inspecting the product. In these Instructions,
safety notices are divided into "Warning" and "Caution" according to the hazard level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HEMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and rainwater
from entering product. These materials inside the product could cause a fire or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and after conductor connection, do not apply
excessive force to the terminals. Otherwise, a fire may result.

MHandling Precautions

Warning

@Never touch terminals. Otherwise, electric shock may result.

(2] #FEEEMEX  Applicable Breaker Type

AABRFEHA | B i R 8 2
Plug-in base type | Poles Applicable Breaker Type Fig.
XDM1 2 E50F, E50-CM, E100-SF
3P @

T2PM12E

T2PMI2G 3 | 850-GF, §100-11, 8125-010)

T2PM12LT

TIPMI2LC ¥ | $50-5F, 8125-80]

T2PM25E $225-[1[], 5250-_ 11, H100-NF , H125-NF,

T2PM25C ¥ H225-NF, L100-NF , L125-F, L225-NF

ToomaLE P | E250-8D0, $250-S0, A2500] ”
Lo 3P| S400-0J00, HA00-NE, L400-CE, B4OOT] -

1o weoe 3 | $630-0100, $800-0100, B80OC]

e 3P | HG30-NE, LG30-NE, HB00-NE, L800-LJE, BSOOP, BB0OR

TaoMXSE ¥ s1250-5€, S1280, B12500] @1

*1:EEmX Xy K/N—fF  With flat bar stud for rear connection.
*2: 0=8[0kx< [CC]=Except for “S[”

REW—E Packaged ltems

IR E

(x&)

Instruction Manual : 1
(This document)

AEARMEHRX | B # K& 3 REM
Plug-in base type | Poles | Qty Packaged Items Qty Packaged Items

<o 2P 2 4

P |4 PP wexzs 6 Cog Mo
T2PMI2E » s 6
T2PM12C
T2PMI2LT ©) @5
T2PMI2LC ¥ |4 M5 8 Cop e
T2PM25E

3P 4 6
T2PM25C O o
T2PM2SLE w | 4 © W 6 % M
T2PM25LC
T2PMAOE G5 @p
T2PM4OC ¥4 e 6 Op Mo
T2PMSOE

3P 4 6
T2PMBIC O Oy
T2PMBOM » | 4 O w0 . Op M6
T2PM8ON
T2PMX3E S @5 12
T2PMX3C m 1 Qgp M0 = M12X47

M BEELBHIR Assembly Tools

) ON OB




EARERAER

Plug-in Base Mounting Procedure

BN EE I

Auxiliary Circuit Terminals

A| M5X25 | 26~35N-m |©
M5X25 M5 2.6~35N +m
A 22~35N+m A2 M8 | 118~14IN-m | @
M5 M10 226~300N*m | @
#HBE RS FIEERYS] Standard arrangement for plug-in type auxiliary circuit terminals
XDM1 T2PM12E T2PM12C T2PM40E  T2PM40C T2PM8OE ~ T2PM80C
T2PM12LT ~ T2PM12LC T2PM8OM  T2PM8ON
T2PM25E  T2PM25C T2PMX3E ~ T2PMX3C
T2PM25LE ~ T2PM25LC
2P 3P 3P 3P, 4P
‘Axm AXal AXb1‘ALc1 Alat ‘ALD1‘OP1 ‘OPZ‘ D1 ‘ D2 ‘
‘AXN AXal AXb1‘ ‘AXN AXal AXb1‘ U1 ‘ u2 ‘ ‘Axm AXal AXb1‘ Ct ‘ c2 ‘ ‘AX01 AXal AXb1‘AXc2 AXa2 ‘AMN\I ct ‘ c2 ‘ =
AXct|AXal|AXb1|ALct |ALal ‘ALb1‘OP1 ‘OPZ‘ ct ‘ c2 ‘
‘ALc1 ALat ALb1‘ ‘ALC1 Alat ALb1‘ U1 ‘ u2 ‘ ‘ALC1 ALat ALb1‘ C1 ‘ c2 ‘ ‘AXCZ AXa2 AXb2‘ALc1 Alat ‘ALb1N\I ct ‘ c2 ‘ ==
AXc2|AXa2|AXb2| PALc | PALa 1
N U1 ‘ u2 ‘ ‘Axm AXal AXb1‘ P1 ‘ P2 ‘ ‘AXM AXal AXb1‘ D1 ‘ D2 ‘ ‘AXc1 AXal AXb1‘AX02 AXa2 ‘AszN\I D1 ‘ D2 ‘
N P1 ‘ P2 ‘ ‘ALc1 AXal AXb1‘ P1 ‘ P2 ‘ ‘ALC1 ALat ALb1‘ D1 ‘ D2 ‘ ‘AXN AXal AXb1‘ALc1 Alat ‘ALD1M D1 ‘ D2 ‘
N St ‘ s2 ‘ ‘Axm AXal AXb1‘ St ‘ s2 ‘ ‘Axm AXat AXb1‘ALc1 Alat ‘Axm AXal AXb1‘PALa PALb‘ Nom ‘opz‘ ct ‘ c2 ‘
‘AXc1 AXal AXb1‘PALa PALb‘ N OP1 ‘OPZ‘ ct ‘ c2 ‘
1 :0CRIXMA—FHRIEBDHBE. OP1. OP2iHF30S1. OS2I FICBEMARBEEN I FOA—JIHF EMIRL TSV,
¥21UVTIar bA-IPRIENHZE. P1. PARFIEUCT, UCHFICEEHZ I bA—FDUCT, UCAHF EFERRL T80,
% 1 IIfthe OCR controller is installed separately, substitute OS1 and OS2 for OP1 and OP2 and connect these terminals to the controller terminals having the same numbers.
% 2 Ilfthe UVT controller is installed separately, substitute UC1 and UC2 for P1 and P2 and connect these terminals to the controller terminals having the same numbers.
Coductor Connection Procedure
¢D
#D
E
C B
e
XDM1 T2PM]2E T2PMI2LT T2PM25E T2PM40E T2PMBOE T2PMX3E
T2PM12C T2PM12LC T2PM25C T2PM40C T2PM80C T2PMX3C
T2PM25LE T2PM8OM
T2PM25LC T2PM8ON
B =18mm =15mm =17mm =25mm =35mm =40mm =45mm
C =10mm =10mm =12mm =16.5mm =20mm =26.5mm =30mm
13mmX2
D 6.5mm 6.5mm 6.5mm 9mm 11mm 17mm (Pitch 36mm = 4)
E — — — =16.5mm — — —
M6 M6 M6 M8 G M0 @ M16 M12X47
F
36~6.0N*m 3.6~6.0N*m 3.6~6.0N*m 8.8~147N *m 18.6~29.4N * m 51.5~84.3N * m 40.2~65.7N * m

| 2G1023SAC (KRB-0653c)




